—iEd  BTHE B (1EE)

(R 1]

ROMIEZ &

(1) koA %zFHEE L,
(3x*-2x+4) +2(x*-x+2)-3(@*-x+4)

(2) koA %z Y X,
(*-2x-1) (*-2x-2)

(3) kDA %EREB RS &,
(x-y) (x-y—-2)-8

4) ROAFEAZBT,

x+9 3 11
>o x> pq o
3 Tzt g

(5) RDIBDEER T & NBERIT 2 KD X,

V3-1

SAT—-M @



(e 2 ]

2RBB Sf(x) =32"-62—9 DF I 72OV TRDOMVITEZ X,
(1) 277 7DIENSDIEEE KD X,
2 27770 it OREHOMEELE T RTKRD &,

@) f)D7 7 7% xWh/imic -2, y /T 4 22T E L7277 70X 2R X,

@ SAT—M



(1 3 ]

1 HOEZH 10 O IEVUHEAR ABCD B W, MAB#2:3 1035 8%2E L L, 4
AD Oz F & § 5,

(1) ACEF®D3UDEIZTRTRD L,

(2) cos 2 CFE ofiz ko X,

(3) A CEF olfifiz ko &,

SAT—-M @



(R4 ]

1225 100 ETCOHEZ22F7-100KDH—F21o 1 KZROHTEE, Z20HK513
DIEELE 7212 8 DIFETH 2R E KD &,

SAT—M



[F5RE 1 2 %)
(1) Bx?—2x+4)+2(x%—x+2)-3x%*—x+4)
=3x%2—-2x+4+2x3—-2x+4—-3x>+3x—12

(2) (x*—-2x—-1)(x*-2x-2)
= (x%? —2x)? = 3(x% — 2x) + 2
=x*—4x3 +4x —3x*>+6x+2

=x*—4x3+xZ+6x+2 (%)

B) x=y»)x—-y—-2)-8
=x—-y)?-2(x—y)—8

=G -y+Dx—y—4) o ()

=22—x

3
xX+9=6-3x
4x = -3

3

>_3
=77

*72.

U e
X=3%T3

9 22
2—X>€X+?
12 — 6x > 9x + 22
—15x > 10

2

<__
XS 73



2 2(V3+1) _ 2(V3+1) _
(5)\/_—1 T W3-1DO3E+1)  3-1 V3+1

V3DFEEEEER T 1E 1, 3D/ 3133 — 172 DT,

\/——1@%{@/(%5 ik 2, INEGRAIINE — 1 (%)

(R%E 2 2 &)
(D) 2B f(x) 2XEETDH L

f(x) =3x2—6x—9=3(x—1)2—-12
Lty koT, THAOKEEL (1, -12) - (%)
2)x filiE OIEFED y BT 0 THHND,

3x2—6x—9=0
x=-3)(x+1)=0

LB, XoT, WHESOEEL 3, 00 & (-1, 0) D2 (%)

(3) 1) TRO-TEAOFEE L (1, -12) THHMDH, YTBEI L=V T 7 DIE A

DOIEFEX (-1, -8) & 725,
XoT, HTBEILZZ 7 70T 3(x +1)2—8=3x2+6x—5" (%)

(%8 3 fE &)

(1) AAEF IZEB W T LZEAF 12 60° THAHND | RLEMIZ LY

EF? = AE? + AF? — 2AE AF cos ZEAF

= (10 22+(1O 1)2 2(10 - 10 ! 60°
=10+ 3) >) —2(10 - (10 + 3) cos

=21

[FlERIC



CE? = BE2 + BC2 — 2BE BC cos 2EBC

3 3 .
= (10 X )? + (10)? = 2(10 X £)(10) cos 60
=76
CF2 = CD? + DF? — 2CD DF cos 2CDF

1\2 1
= (10) + (10 X 5) —2(10)(10 x E) cos 60°

=75
L%,
WOESIZE/R2DT, EF=+v21, CE=v76 =2V19 . CF=+75 =5y3 -
(%)

(2) ACEF IZRGEB AT 5 &
EF2 + CF2 — CE2
2 - EF - CF
2147576
104213

cos ZCFE =

(3) (2) TRD7~ cosZ CFE XV

V413
sin ZCFE = i\/l — cos?2 ZCFE = iT

ZCFE < 180° THHM D

_ V413
sin ZCFE = ——
21
LB,
ko, ACEF=§-EF-CF-sinLCFE=52E ------ (%)
(SR8 4 f2 &)

1775 100 £ CTEOFIT, 3 OfEHIE 33 E, 8 DfE%ix 12 18, 24 OfFEEIT 4 8
GENTWVWD,

33 12 4 41
FoT, Byl L8
100 100 100 100



